[bookmark: _GoBack]Maths Homework - Year 3
This week we have been looking at 3 digit numbers, mental methods of adding ones kepping within tens and crossing tens. Children have been introduced to the terms ‘regrouping’ and exchange’.
3 digit numbers: Using a  number line to add and subtract ones (crossing tens)
Can you use the number line and part whole method to solve these problems?
Remember: What is the next ten?
(This gets the children to mentally work in larger amounts rather than counting backwards/forwards in ones.)
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Challenge 2:Use part whole model to solve the following 
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Challenge 3:
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Times tables: it is important that you practice your times tables regularly. 
Test yourself on the 3, 4 and 8 times tables, can you beat your own time?
Maths is everywhere!                                                                                                                  
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Explain how you would solve these
calculations:

564 - __ =558
- 8 =725

352=361—___
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| We can use @ number line to calculate 346 + 7

V) 46+4=50 50+3=53

-
wwwswson s % s 50346+ 7=353
Use this method to calculate:
564+ 8 716+9 327+5

I We can partition our 1-digit number to calculate 379 + 5

379 +1=380 380+ 4 =384

Use this method to calculate:
n 178 +9 826+7 359+8
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Work out the subtractions.

Use two jumps on the number lines.

a) 135-8
1
126 127 128 129 130 131 132 133 134 135 136

b) 422 -

241 251
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Using a number line to add ones to a 3 digit number (crossing tens)

106+7  ——+—+—+—+—+—+—+—+—

| 105 106 107 108 109 110 111 112 113 114 115

Using a number line to subtract ones from a 3 digit number (crossing tens)

=ttt
113-5

105 106 107 108 109 110 111 112 113 114 115
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Ron and Jack use Base 10 to solve 225 -
8

Ron's method:

Jack's method:

T |s¥

Explain which method you would use and
why.
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Which is the odd one out?

Explain why!




